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THE WINNING EDGE DEFENCE ACADEMY (WEDA)

RASHTRIYA MILITARY SCHOOL, CLASS — 6™

QUESTION PAPER (2023)

Time: 2 Hrs 30 Min

T 2 we 30 e
Sections / stwmr Questions / o Maximum Marks / stférerawn i
English / =@t 50 50
General Knowledge / smm= s 50 50
Intelligence / afgmmr 50 50
Mathematics / wfore 50 50
Total / #= 200 200

Instructions:

All questions are compulsory and objective type with Multiple Choice Answers.

There is no negative marking.

In case of ambiguity on any question, the English version be taken as final.

Please use black/Blue ball point pen to completely darken the circles corresponding to the
correct answers.

The last blank pages of the question paper are meant for Rough Work.

The candidate must darken only one circle. If more than one circle is darkened, it will be
treated as a wrong answer.

Please return the answer sheet to the invigilator after the exam is over. The question booklet
can be carried along with by the candidates in the competition for the exam.
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SECTION — A : ENGLISH

Read the passage given below carefully and
answer the questions given below:

Bachendri's story stands as an example of how
going against your family's wishes can be hard
but important from time to time. Raised
surrounded by the Himalayas towering around
her hometown, she intended to climb it one
day, and focused on becoming a professional
mountain climber. Moreover, she received a lot
of discouragement for being a girl trying to take
on such a physically challenging path. This only
fuelled her passion; she was selected to be part
of an expedition to the top of Mt. Everest. She
braved being buried in snow, fierce icy winds
and even losing sensation in her toes. She was
one of the few who finally made it to the top
creating history in being the first Indian woman
to reach the summit.

1. Which mountains surrounded Bachendri's

hometown?
a. The Himalayas b. The Alps
c. The Mountains d. Mt. Everest

2. What did she want to become on growing
up?

a. Doctor

b. Professional Mountain climber
c. An athlete

d. Engineer

3. Why did she receive a lot of
discouragement?

a. Because she was a girl

b. Because she was weak

c. Because she was incapable

d. Because her family did not support

4. What was the reaction of Bachendri's family
regarding her choice of career?

a. They were happy

b. They supported her

c. Her family was not happy
d. None of these

5. What was the childhood dream of
Bachendri?

a. To become an athlete

b. To climb the mountains one day
c. To become a coach

d. To become a teacher

6. Madhu is worried the test
because she thinks that she will fail the test.

a. of b. to
c. about d.on

7. Fill in the blank with suitable word.

He has knowledge of the language.
a. lot b. many
c. little d. few

8. Direction: Choose the option which can
replace the word in BLOCK LETTERS in the
following sentences.

The test includes COMPULSORY essay
question.

a.forced b. affable
c. optional d. not attempted

9. Direction: Fill in the blanks with correct
pronouns from the options given below.

They were angry with for their
silly mistake.

a. ourself b. themselves
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c. itself d. yourself

10. Direction: Pick out the nearest correct
meaning or synonym of 'ADVICE'.

a. Council b. Counsel

c. Practice d. Proposal

11. My sister from Meerut recently.
a. cross b. crossed

¢. had crossed d. have crossed

12. Do you see blue sky?
a.a b. no article
c.an d. the

13. Fill in the blanks with suitable choice.

The class was not held as students were

present.
a. afew b. any
c. few d. a little

14. A synonym for vowed

b. lied
d. steered

a. promised
c. stated

15. A synonym for satisfaction

b. contentment
d. accuse

a.rap
c. peril

16. A synonym for courageous

a. Scary b. Brave

c. Happy d. Delicious

17. Direction: Fill in the blanks with correct
Adjectives: There is water in the
bottle.

a.some b. few

c. large d. small

18. Direction: Choose the option which can
replace the word in BLOCK LETTERS in the
following sentences.

Please FORGIVE me.

b. justify
d. blame

a. pardon
c. convict

19. Have you seen one rupee note?

a. the b.a

c.an d. None of these

20. can also be called exclamatory
sentences.

b. commands
d. questions

a.exclamations
c. statements

21. Direction: Choose the option which can
replace the word in BLOCK LETTERS in the
following sentences.

The thief will CONFESS his guilt soon.

b. refuse
d. none

a.deny
c. admit

22. Direction: Choose the option which can
replace the word in BLOCK LETTERS in the
following sentences.

They will surely IGNORE you.

b. overlook
d. indicate

a. remember
c. notice

23. The speaker will be coming

car.
a. by b. from
c.in d. over

24. Fill in the blank with suitable word/ phrase.
Please be quiet, |

a. am working
c. have worked

b. was working
d. had worked

25. India everyone to do his/her duty.
a. expects b. excerpts
c. accept d. expert

26. Direction: Rearrange the following
words/phrases to make a meaningful sentence
by choosing the correct sequence.
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at (A)/were not (B)/ school (C)/ they (D)/
yesterday (E)/

b. DBACE
d. DECAB

a. CBDEA
c. BACED

27. Direction: Choose the suitable one for the
given expression. A building for ring threshed
grain

a. hangar b. dockyard
c. store d. granary

28. A synonym for decide is

a. settle b. choose
c. determine d. all of the above

29. The kid is learning to play violin.
a.a b. the
c.an d. None of these

30. Change the narration for following
sentence:- We have already done the exercise.

a. Already, the exercise has been done by us.
b. The exercise has already been done by us.
c. The exercise had been already done by us.
d. The exercise is already done by us.

31. Direction: choose the correct options to fill
the following.

They were angry with for their silly
mistakes.

a. him b. their

c. ourself d. themselves

32. Choose the correct preposition:

| will meet him Saturday afternoon.

a.on b. with
c.to d.into

33. Direction: Rearrange the following
words/phrases to make a meaningful sentence
by choosing the correct sequence.

ship (A) /violently (B)/ the (C)/ the storm(D)/
rocked (E)/

b. ACBDE
d. DECAB

a. CDBAE
c. CABDE

34. Direction: Rearrange the following
words/phrases to make a meaningful sentence
by choosing the correct sequence.

for tigers (A) /a natural (B)/ it is (C)/home (D)/
protected (E)/

b. ADEBC
d. EDBAC

a. CBEDA
c. CABDE

35. Direction: Fill in the blanks with the correct
options.

The terrorist dead by the cop.
a. shoots b. shot
c. has shot d. was shot

36. Direction: Choose the word which is
opposite in meaning to the word in BLOCK
LETTERS in the following sentence.

She is known for her POLITE nature.

a. rough b. coarse
c. refined d. rude
37. are sometimes called

declarative sentences.

a. statements
c. commands

b. questions

d. requests
38. The mother food for us everyday.

a. is cooking b. cooks
¢. has cooked d. cook

39. A synonym for delectable

a. Confusing b. Angry
c. Delicious d. Smelly

40. The classes will be held
Monday.
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a. over b. on
c.in d. at
41. Find the correctly spelt word.

b. houroscope
d. horoscope

a. horouscope
c. horoscope

42. Direction: Rearrange the words/phrases to
make meaningful sentence

of India (A)/ modern man (B) / called the first
(C) / he is rightly (D)

a. DCBA b. BDCA
c. ABDC d. ABCD

43. Find the correctly matched "ldiom":

a. as nimble as quirrel b. as cold as snow
c. as innocent as baby d. as easy as needle

44. Direction: Fill in the blanks with correct

article:

He can fly aeroplane.

a.a b. an

c. the d. no article

45. Direction: Rearrange the following
words/phrases to make a meaningful sentence
by choosing the correct sequence,

called (A) /rose is (B)/ the queen(C)/ flowers
(D) /of(E)/

a. CBDEA b. ACBDE

c. BACED d. DECAB

46. My friend his purse last night.
a. loses b. lose

c. lost d. is losing

47. Mr. Chatterjee wants to be MLA.
a.a b. an

c. the d. no article

48. The treasure is buried the

coconut trees.

a.over b.on
c.in d. under

49. Choose the correct spelling:

b. appreciation
d. apreciation

a. appresiation
C. appreciason

50. Find the correret Gender of "Marquis'

b. marquises
d. none of thes

a. marquis
c. marchioness

SECTION B: - GENERAL KNOWLEDGE

51. Dibrugarh is located in which state?

fesrre form o & Rera 22

a) Assam/3/

b) Nagaland/mmes

¢) Arunanchal Pradesh/3T&vTmeret gt
d) Mizoram/fisiien

52. What colour symbolises peace?

I |7 T 9T T Tt 22

b) Orange / A/l
d) White / @%g

a) Pink/ Tretrsit
¢) Brown /53T

53. Husain Bolt who created a new world
record in 100 metres race is a citizen of

100 Hiet St # 731 forg Ferie s ot 38 siiee el &
TR &2
a) USA /7T@u

b) South Africa/ afaor Tsbiert
¢) Russia /=9
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d) Jamaika /SRt

54. NRI - Means:

NRI - T 379 &:

a) New Regional Instrument / 7= &5 SuaRtor
b) Non Resident Indians / % framet s

¢) Non Regional Indians. / T &=t st

d) None of these / 378 @ &1 &t

55. Gateway of India is located at?

e AT gfear wat Rea &2

a) Hyderabad / 2<trere

b) Mumbai / 415

¢) Bengaluru / Srete
d) Agra / AT

56. Who is the founder of Microsoft?
UTIThIATHE o HEATT hi &7

a) Steve Job /= & b) Satyan /¥
¢) Bill Gates/ fs@iiicg  d) Donald/ eFTee

57. The science of drawing map is called
UTARE 9 1 s weerar §

a) Cartography/ wf=erett

b) Geography/ T

¢) Topology/ Zmreitsit

d) Geology/ i s

58. Where is the Gir National Park Situated?
iR i 3 et fora 22

a) Punjab/ dsirer
¢) Gujrat/ TsiTra

b) Haryana/ gf@mom
d) Maharashtra/ 7grrse

59. Bandipur National Park is located in which
state

TR et s R Tew  fRera 32

a) Gujarat/ TR

b) Rajasthan/ Tseam
¢) Uttar Pradesh/ St =t
d) Karnataka/ #fes

60. Name the brightest planet in the Solar
system

A & TaH THhIe T hT TTH FaT5d

a) Neptune/ Ja=a7
¢) Jupiter/ FeEafa

b) Venus/
d) Saturn/ I 7®

61. Ajanta Paintings are related to
arsiar fersreret forord geifer &2

a) Jainism/ S e b) Brahmanism/ siramrarg
¢) Christianism/g& @ d) Buddhism/ 35 &

62. Who was the first women IPS officer in
India?

WA shl Tgeil AIEeT ATSUToH Afererit i ofi?

a) Anna Chandi/ 3= =€t b) Kiran Bedi/ feor st
¢) Leila Seth/=fiem@s  d) P.K.Thresia/ ¥t .gfemn

63. Earth rotates along direction
gt oo & gt 2

a) North to south/ 3T & gfaror
b) East to west/ 7 @ wfzm
c) West to east/ afem @ qd
d) South to North/ gfafor & 3w

64. What is the capital city of India?

WA <hT TSTLTHT T 82
a) Mumbai/ 413 b) Kolkata/ reterar
¢) Delhi/ feeett d) Chennai/ ==

65. Which city is called the Queen of Arabian
Sea?

I AR kY T forEr 91T Al et SATaT 82

a) Coimbatore/ ®&srx  b) Tamil Nadu/ afierrg
¢) Kochi/ #itsar d) Chennai/ ==
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66. Who was the president of France during
G20 summit at New Delhi in September 2023?

forear 2023 & 73 feeett # G20 Hrer T e % EE
THIE & TeEUTd i 92

a) Francois Hollande/ T1sd 37ietig
b) Emmanuel Macron/ 3iJue s
¢) Nicolas Sarkozy/ ferie@ ais
d) Francois Mitterrand/ Sigd firdte

67. When is the International Yoga Day
celebrated?

SRS a0 feae e WA ATaT 22

a) Jun-21/54-21
¢) May-21/7E-21

b) Jun-22/5H-22
d) Apr-21/ s¥a-21

68. Cataract is the disease of?

nifeanfeg W E2
a) Eyes/ 3@ b) Teeth/ gia@
¢) Skin/ @@= d) Heart/ fea

69. Which country is the largest producer of
coffee in the world?

Tre T HTHY T GGH TET IUTEH ST HIT AT 82

a) Brazil/ srsfter b) Ethiopia/ sfmnfi=r
¢) Colombia/ #fts=r  d) Vietnam/ foaaam

70. Which of the state has the largest area of
forest cover in India?

WA H gy 31feres a7 o fra a6 82

a) Arunachal Pradesh/ 3ot yeer
b) Haryana/ gfamom

¢) Madhya Pradesh/ wex gewr

d) Assam/ 3@

71. On which date mother's day is celebrated?

Had T ford ariE sl AATET SITaT 82

a) 2nd Sunday of May/ 7€ T g Ueramr
b) 3rd Sunday of May/ 5 &1 draw far

¢) 4th Sunday of May/ &g =T =iterT Tfear
d) 1st Sunday of May/ |g =T TgaTT Tfeam

72. Which of the following is NOT a scheduled
language of India?

TreforRaa & & o € Wi T sTefa AT A 82

a) Mundari/ gert
b) Santhali/ dereft
¢) Bodo/ sitet

d) Dogri/ St

73. The age of a tree can be determined by

Tereft Ug <ht 3 Tormren g frertfia <Y <11 w22

a) Measuring its height / 3@t S=s AT
b) Measuring its diameter/ &eh1 =9 HIUAT
¢) Analyzing its sap/ g8k T T farsgwor

d) Counting the annual growth rings of its stem/

< % T af e A el

74. Which among the following cities in India,
is not located in Golden Quadrilateral Road
Network?

A # FrefeRad # & i |1 T S aqys a5s
Jead ¥ fua T 72

a) Kolkata/ shetshrar b) Mumbai/ 4=
¢) New Delhi/ € féeeft  d) Chandigarh/ =<ig

75. The head of the Government of India is

R TR HT T 2

a) Prime Minister/ g4t w5t
b) President/ Trsgufa

¢) Speaker/ aHt

d) Vice President/ 3uteae

76. How many seconds are there is an hour?
Teh ©eT U feha dehe i &2

a) 36000 secs/ 36000 THg
b) 3800 secs/ 3800 g
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¢) 4200 secs/ 4200 TS
d) 3600 secs/ 3600 THg

77. What is the nickname of Rabindranath
Tagore?

TEHFEATY SR T IUATH FIT 22

a) Mahamana/ wg@=1

b) Gurudev/ T&ea

¢) Adshah Khan/ s1mesne @™

d) None of these/ 7 & =S Tt

78. Which is the largest continent?

TaY TST WETEIT i 6T 82

a) Europe/ T4 b) Asia/ TfRmn

¢) Africa/ 31T d) North America STt T
79. PV Sindhu is associated with which sport?
et ey foper @er & waifera 82

a) Badminton/ sefiiet  b) Squash/ &=

¢) Volleyball/ atefisii  d) Cricket/ e

80. What is the age of retirement of a Judge of

the Supreme Court of India?

WA o AETod ATATTd o ATATe T T GaTfa i ht

AT AT E?
a) 62yrs/ 62 a9 b) 68yrs/ 68 I
¢) 60yrs/ 60 T d) 65yrs/ 65 a9

81. Agra is situated on the bank of river?

TR forer 7t % qe WX frera 22

a) Brahmaputra/ &9 b) Krishna/ F=m
¢) Godavari/ meret d) Yamuna/ T

82. Ringworm is a......... disease.

a) Bacterial/ sftamgy b) Protozoan/ SiasiraT
¢) Viral/ ara d) Fungal/ ®%e

83. What is the name of the famous tower in
Paris, France?

Ui, i H Ufrg 2Ta) ot o T AT 22

a) Eiffel Tower/ Tfthet T

b) Big Ben/ fertam

¢) Tower of London/ &R 3iT% wad

d) Leaning Tower of Pisa/ ftar < gl #iR

84. On what date the 'World Population Day'
is observed?

ey ST feaar forg fater &6 v strar 22

a) 11th May/ 11 98 b) 11th July/ 11 S8
¢) 11th April/ 11 3«1 d) 12th August/ 12 3FTEq

85. Who among the following Scientists got
two Nobel prizes of which one was in Peace?

FreaferRea & & form Safoes &t &t Frarer geeer et
et & e vrifer o forg 2

a) Albert Einstein/ 3teeid STEd
b) H. G. Khorana/ T Sft. garT
¢) Linus Pauling/ forra difefr

d) Paul Berg/ dfet &t

86. In which state Malyalam language is
spoken?

HAITAT WTHT e T § et ATt 32

a) Karnataka/ &ics

b) Tamil Nadu/ afiemTg

¢) Andhra Pradesh/ 3171 yesm
d) Kerala/ &

87. Which of these is not part of the five layers
that form earth's atmosphere?

FTH | I gealt % ArIHEA T Fuior e areft gt
oA sk e e 22

a) Thermosphere/ a9 Higa
b) Troposphere/ &rvrise
¢) Exosphere/ aifedea
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d) Hydrosphere/ SictHiga

88. Who was the president of India at the time
of emergency in 1975?

1975 T STATAhTS h THT WA oh WAL i A2

a) Zail Singh/ 3« féig

b) VV Giri/ #fteft firct

¢) Fakhruddin Ali Ahmed/ ®@%EH 3Tl 3180
d) Shankar Dayal Sharma/ /e gaTer I

89. Study of the universe is known as-

FRITUE 3 7L Y el TATaT &

a) Pathology/ Sttt

b) Cosmology/ s&e fasm
¢) Ornithology/ wefifasm
d) Geology/ s s

90. Who was the first person to give the idea
of the constitution of India?

WA o HTrem &7 foer 3 aret T sufeh T 242

a) Mahatama Gandhi/ a&rear Tt

b) Dr BR Ambedkar/ €. t.31R. 3Tiegst
¢) Jawaharlal Nehru/ semetere 7&&

d) MN Roy/ Ta.TH. T

91. Dayanand Saraswati was the founder of
which of the following missions?

e gt eferiaa & & fore fuem & deumues
a2

a) Arya Samaj/ 313 guTT
b) Prarthana Sama/ Sre=T TaTsT

¢) Brahmo Samaj/ s a9t
d) Chinmaya Mission/ fa=m=r firgmr

92. is considered as father of Indian Space
Program.

T TRATT SIANeT hIAShH hT ek HTAT SATAT
2l

a) CV Raman/ €&t T

b) Homi J Bhabha/ gt 1. st
¢) Abdul Kalam/ 31s5e sei
d) Vikram Sarabhai/ fersrw amrss

93. By which name the main branch of river
Ganga is known as in Bangladesh?

THTT T T W IR ol SeATayT § fohdt A & ST
AT 2

a) Jamuna/ ST
¢) meghna/ TeT

b) Padma/ u=m
d) Kalindi/ fetet

94. What does Vitamin K deficiency lead to?
farerfem K &t et & @ g 82

a) Problem in digestion/ == o wHEn

b) Problem in Blood Coagulation/ & smTee &
e

¢) Problem in Calcium Metabolism/ fesem
TTelIfets | T
d) Night Blindness/ Tieft

95. Which is the largest ocean in the world?

Ty o1 A IS HEETR i AT R?

a) Atlantic Ocean/ sTedifes Te@mR
b) Indian Ocean/ fég TR

¢) Pacific Ocean/ J3Tid HEEFR

d) Arctic Ocean/ 3TTeh{ee: HETETR

96. The Lingaraja temple built during the
medieval period is located at:-

wegeRtel | fafia fermra dfe R 2:-
a) Bhubaneswar/ Ja-zat
b) Khajuraho/ @sfrer

¢) Madurai/ #gt
d) Mount Abu/ ATSe 1

97. Which is the largest civilization in the
world?

Targ & aad 9 gwrar S H E?

a) China Civilization/ == st wvram
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b) Indus valley civiIization/ﬁgaﬁW
¢) Mesopotamian civilization/ H&dIT{ERT F=rar
d) Egypt civilization/ f&re s @rerar
98. Name the largest river in the world?
Ty <t o Tt 7t 1 AT Tqm?
a) Nile/ e b) Amazon/ 3=
¢) Yellow River/ Wieft ¥t - d) Brahmaputra/ seg

99. was the first human to go to space.

Sfafeer § ST aTer Uger AT A

a) Buzz Aldrin/ aist tfega

b) Yuri Gagarin/ Z{ e

¢) Neil Armstrong/ et smdezim

d) None of the above 3 @ =S off &t

100. The deepest lake in the world is
fag fram@ e e

a) Wular Lake/ Ier sitet

b) Lake Superior/ guife st

¢) Victoria Nyanza/ faeiian =msm
d) Baikal Lake/ shret 3ftet

SECTION C: - INTELLIGENCE

101. In a certain code language, 389 means
run very fast, 964 means come back fast & 487
means run and come, then what is the code
for ‘come’?

T AT shie wTeT H, 389 T 319 ® " 9 wiEe,
964 T 37T & "R Tk WIES" 3T 487 T A ® " UL
HA", A "FA" % AU H AT w I BE?

a)7 b)9
c)4 d)8

102.Z,X,?, N, F

a)T b) R
c)Q d)O

103. If North-East becomes West and South-
East becomes North then what will West
becomes?

Tfg I-d, ufiym o S  ofR aferorud, swam
AT &, 9 ufm s a1 S

a) South-East/ &fargqd  b) North-East/ Iw-d
¢) South/ gféor d) North-West/ St-ufsm

104. Find the missing letters in the series,

AT § T eRT sl @i, CMM, E00, GQQ,

KUU.

a) GRR b) GSS
c) ISS d) ITT

105. 'GIVE' is written as 5137 in a code
language & 'BAT' is written as 924 in a code
language, then how 'GATE' will be written?

'GIVE' %! Te i HINT H 5137 &% & § fo@r mar g
3T 'BAT' &1 924 % &4 # for@m mar 2, a1 'GATE' &Y
& forat srome

a) 5427 b) 5724
c) 5247 d) 2547

106. If 'Meat' is written as 'TEAM', then 'BALE'
is written as

It 'Meat' &1 'TEAM' o &9 ¥ for@T mar g, ar
'BALE' & & fora smam?

a) ELAB b) EABL
c) EBLA d) EALB

107. While facing East you turn your left and
walk 10 yards; then turn to your left and walk
10 yards: and now you turn 45 degrees
towards your right and go straight to cover 25
yards. Now, in which direction are you from
your starting point?
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T ST g <hT ST SR A §, q AT A AR qSA &
3R 10 7T TeTd &; FoRt amg o we ¥ o 10 T Tt
: 3T o1 317 3TE 31 45 feaft wed ¥ ofiR 25 o S
#1 a7, 31T SO Yo et foig & forw oo & ¥

a) North-East/ 3T-qd

b) South-West/ famr-ufem
c) East/ o

d) North-West/ Ste-ufsm

108.4,8,12,16, ?, 24

a) 10 b) 20
c) 30 d) 40

109. Anil reached at a place on Friday. He
came to know that he had reached there 3
days earlier. If he reached on Sunday, then
how he could be late or earlier?

AT Ueh TTE IEHAR T TEAT| I8 aT =T foh g gt
3 Tt weet uge am afe o Wt ugen, 7 9w w5
Y AT UTA B ThaT oAT?

a) before 1 day/ 1 feq Teet
b) after 1 day/ 1 fa s

¢) after 2 days/ 2 fer =

d) before 2 days/ 2 f&7 vget

110.1,1,4,8,9,?

a) 36 b) 27
c) 49 d) 64

111. In a certain languages, TOUR is coded as
1234. How is CLEAR coded as 56784 and
SPARE is as 90847, then how is SCULPTURE
CODED in that language?

ek fAfara wrer &, TOUR &Y 1234 % &9 ® shifea femar
TEAT 81 CLEAR &Y 56784 % €4 # 31X SPARE &t
90847 % & | hifed ferar T €, 9 SCULPTURE <t
I N1 W W hifea forar Amawm?

a) 1453602347
c) 85360245

b) 953401347
d) 953601347

112. If CBE means BAD the then GMBH means-

JfE CBE T 219 BAD #, @ GMBH <hT 371 &/IT gRTT?

a) GOOD b) FOOD
c) FLAG d) FLOG

113. A & B are sisters, R & S are brothers,
daughter of A is a sister of R, then what is the
relation of B with S?

AFRBaEEAIE, RARNSWE S, AR I RFTTEA R,

AT B T S o AT Heiel T &2

a) Mother/ af b) Grandmother/ ardt
¢) Sister/ s d) Aunt/ =t
114.8::512:?

a)7:343 b)9:243

¢)10: 500 d)5:75
115.100:121::144:?

a) 160 b) 93

c) 169 d) 426

116. Who is third to the left of 'D'?
'D' % TS AR AT HhIT 8?2

a)A b) E
c)F d)C

117.5:125::6:?

a) 225 b) 216
c) 400 d) 30

118.QTU :ILM: : JMN :?

a) PSZ b) BEF
c) WZA d) UXB

119. If the following words are arranged in
reverse order of dictionary arrangement, then
which word would come at third place?

gfe fFrafaRaa isal sl TTeahivT & Tl § I ot
e foraT SITY, At R T W1 i 9T veg
JTTT?

a) Occulist b) Odium
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c) Odious d) Ordeum

120. If + means +, + means -, - means xand x
means +then 12 +6-3-2x8 =?

It + AT 319l + B, + hT 319k - §, - AT o7ef x B S x T
AA+8,AM12+6-3-2x8=?

a) -20 b) 40
c) 20 d) 80

121. Rahul put his timepiece on the table in
such a way that at6PM the hour hand points to
North, then in which direction will the minute
hand point at 9.15 PM?

TEE A U TS Tl 6 THT T U I o 6 T o
ST 3 I hT ST IR Tl &, AT 9:15 I Toere <t

T3 fore fawm & g @Rt
a) East/ o b) South/ gférr
¢) North/ @ d) West/ ufsm

122. If CAT = 12. then MAN =?

IfE CAT = 12, T MAN = ?

a) 14 b) 24

c) 16 d) 15

123. 1. Bound 2. Bonus 3. Bunch 4. Board

a)1,4,2,3 b) 2,4,3,1
)4,2,1,3 d)4,3,2,1

124. AROUND: RAUODN:: GROUND:?

a) RGUODN b) NDOOGR
c) OUNDGR d) DNUURG

125. Rashmi is 14th from the right end in a row
of 40 girls. What is her position from the left
end?

9w 40 Teferat <t ufer # 218 211 141 31 STeht Rufa
TS IR FATF?

a) 259t
b) 273
¢) 21
d) None the these/ 57 & &1$ &t

126.4:15::6:?

a) 35 b) 34
c) 36 d) 30

127.10:101::20:?

a) 401 b) 402
c) 120 d) 160

128. Cis a nephew of A's father. D is A's
cousin, but not C's brother. How D is related to
c?

C, A % Tuar &1 AT 1 D, A RT <IRRT TS 8, Sifeh C
T ATS T 21 D &7 C & ey 3 82

a) Father/ fuar b) Sister/ &7
¢) Mother/ at d) Aunt/ =m=ft

129. Find the odd Item.

T arrgem @S
a) Mars/ |iret b) Sun/ T&=
¢) Jupiter/ JEEafa d) Saturn/ =1t¥

130. Five boys participated in an education
competition.

il TTgehi ¥ Ueh SrerfuTeR Tfa@irar & ot foram)

(i) Arsh ranked higher than Samay./ =i 3 @I @
S 1o ITH |

(ii) Samay ranked higher than Pratik./ &9 7 wdieh
EERGECaIRED]

(iii) Arsh ranked lower than Nikhil./ 3t 3 ffaer &
Y o ITH Al

(iv) Kabir ranked between Arsh and Samay./
eI 3730 ST T o sff=r {ob ITe il

Who ranked the highest?/ a=@ ssar i feraeht
2

a) Nikhil/ ffaet b) Arsh/ 313t
¢) Samay/ &5 d) Kabir/ &t

131. Reena said "The woman walking on the
road is my father's wife". How is the woman
related to Reena?
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AT T hET "I W el T Aiget 3l foar sy a2

3T UiEAT T AT W T Hy g2
a) Sister/ sgq b) Aunt/ ==t
¢) Mother/ =t d) Daughter/ st

132. From the given alternative words, select
the word which can not be formed using the
letters of the given word: "NATIONALISATION"
o e foremeat # @ o7 vreg 9 o feg o vy
"NATIONALISATION" S 3781 T SUNT ohich 72|

AT ST GehdT:

a) NOTATION b) SALINATION
c) INSTALLATION d) SANITATION
133.2,5,9,(...), 20, 27

a) 14 b) 16

c) 18 d) 24

134. AFHO : CHFM : : GBDJ :?

a) GBIM b) GBLD

c) GPLD d) IDBH

135. If PAINT is written as 63257, SHIRT is
written as 15297, then how HAIR would be
written?

IfE PAINT &1 63257 % &9 § for@r man 8, SHIRT i
15297 % ®q ¥ for@r T 2, 91 HAIR 1 @ ferar

HATET?
a) 5279 b) 1982
c) 5329 d) None/ =18 =&t

136. A woman introduced a boy & said: "His
uncle's (mama) uncle (mama) & my uncle
(mama) are brothers of each other"” What is
the relation of the woman with that boy?

T ATEAT ¥ Ueh TTgeh T UIE ad §¢ et ""I8eh AT
T WTAT A B HTAT TS §" | 3T AieelT T 3T ASh &

a) Aunt/ =m=it

b) Mother/ #t

¢) Grandmother/ =t
d) Sister-in-law/ st

137. A clock shows time 7:30 hrs. If the minute
needle shows the West, then what will be
direction of the hour needle?

T IS H THY 7:30 T ) AT T s g ate Ay

IR E, ot v 6t g2 formr faom & Bvft?
a) North/ W b) N-E/ 3T
¢) N-W/ Sar-afsm d) S — W/ feqor-uafsm

138. 97,90, 76, 55, ?

a) 28 b) 27

c) 26 d) 25

139. Arrange the following words in the
sequence in which they occur in the
dictionary:-

Fraferiae vreat it wregRer § Y shHEEAT §
AT

1. Select 2. Seldom 3. Send 4. Selfish 5. Seller

a)1,2,4,5,3 b)2,1,5,4,3
€)2,1,4,5,3 d)2,5,4,1,3

140. Select the odd one out

o =)
a) 100 b) 194
c) 101 d) 108

141. India : President : : State : ?
WA : eyt : : T 2

a) Prime Minister/ semsst
b) Governor/ TsIaTd

c) Chief Minister/ gt
d) Mayor/ %=1

142. In a joint family, there are father, mother,
3 married sons and one unmarried daughter.
Of the sons, two have 2 daughters each and
one has a son. How many female members
are there in the family?

Tk €Y UNAR ¥ foar, wrar, 3 foenta 3¢ o s
erforanfaa 3@t §1 92t ¥ |, 9t &% Ut 2-2 9feai § s uw
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% UTH Tk e 31 THER # et fehaft wizen vew §2

a) 2 b) 3
c)6 d)9

143. If + means, +,x means -,- X means x &
+means +, then38+19-16x17 + 3=?

Tt + AT 319k + B, x Rt o1 - §, - T 379f x ¥ 3T + T
HA+2,AT38+19-16x 17+ 3 =?

a) 16 b) 19
c) 18 d) 12

144. In a certain languages, MNOPQ is coded
as ABCDE. How is QPONM coded in that
language?

ek T3 wrer #, MNOPQ &t ABCDE & €U H i
Teram AT 1 QPONM <R 30 9THT H & IS forar

JTETT?

a) EDCBA
b) BDCBA
c) CBABD
d) EDBCA

145. Abhishek pointed a girl & said: "She is the
daughter of my father's only child." How
Abhishek's wife is related to that girl?

AT 7 Tk TTgehT chi T SUTIT Shtd 5T HhaT: 98 WY
oAt & Ueheita I¢ hT ST 81" AR 6T Ut 37
TRt U fore T Heifera &2

a) Mother/ @t

b) Sister/ s&q

¢) Aunt/ =m=it

d) Daughter/ st

146. A man goes to the market which is 5 km
away from his house & then he goes to a fair
at 2 km distance. Then he comes back to his
house. How long distance did he cover in the
entire journey?

Tk THT 5 ferwt ST TR ST @ o e 2 feeft g
Het H AT 81 o 91 70 o1 ATo AT 31 36 @
TR H forat i T 6

a) 7 km/ 7 ferrft
b) 3 km/ 3 &t
¢) 14 km/ 14 Tt
d) 15 km/ 15 et

147. CAT, DBU, ECV, ?

a) FDW
b) FWD
c) DFW
d) WDF

148. Paper : Tree:: Glass: ?
HIH : U : : i : ?

a) Window/ faget
b) Sand/ %@

¢) Stone/ Uce

d) Mirror/ gdur

149.3:274:4:?

a) 140
b) 75
c) 100
d) 64

150. A person goes 5 km. towards the East &
then he goes 4 km. after turning to the right.
Then he turns to the left & goes 5 km. In which
direction is he going?

T =afes 5 foRet aat it 3T STa @ o fiRt o a1d ok
TgeRt 4 Terdlt wirar 21 o = aIrg i e 5 fort
ST 21 =g fora feom & ST @2

a) North/ 3
b) South/ =faror
c) East/ o

d) West/ ufsm
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SECTION D: - MATHEMATICS

151. The difference between the greatest two

digit number and the least two digit number is.

a1 3kt Al T TS HEAT 31 31 3kt T Tl Bret
HEAT & S T 3 B

a) 10 b) 89
)2 d) 99

152. 67.395%7=

a) 47.1765
c) 4717.65

b) 47176.5
d) 471.765

153. A boy gets 25 marks out of 80 and fails by
15 marks. Find the percentage of pass marks.

Teh T2k A1 80 | & 25 afeh fireTa & s a8 15 sihi &
et B SATAT 21 STI0T 3feh ST TTa9Td AT ShIfTT)

a) 40% b) 30%
c) 33% d) 50%

154. Write the smallest 3-digit number which
will not change on reversing the digits.

AT 3inl ht Tad Bt gear ferRau St sit =t 3eted
o T e

a) 100 b) 888
c) 999 d) 101

155. Ramesh packed 1350 apples equally into
bags of 5 apples. How many bags need?

TAIT A 1350 Tt ot 5 Gt ht Aferat & G0 &9 A Ueh
T fora ST =nfzw?

a) 265 b) 270
c) 280 d) 285

156. The decimal form 30 + 7 + 2/100 is

30 + 7 +2/100 T IIHAST TG &

a) 307.2 b) 37.002
c) 37.2 d) 37.02
157. 0+27523:

a)l b) 0
c) 275 d) None / 37 @ =13 &t

158. The exponent of 8 is

8 T UTdi<h :
a)0 b) 1
c)8 d) None / 378 @ =13 &t

159. Find the area of Square Park. Whose
perimeter is 640m?

TR UTeh T ATTeT JTd Y TRt T 640 Hiex
22

a) 28900 b) 2560
c) 32400 d) 8900

160. How many three-digit numbers are there
inall?

A skt ATt et femat ATy §2
a) 900 b) 999
c) 499 d) 566

161. Anju scored 39 marks out of 60 in Maths
test. What % is this?

3T et TIIUTA <t TverT § 60 ¥ & 39 sies fren =g foraw
wfeera §?

a) 75% b) 35%

c) 60% d) 65%

162. The sum of all the angles of a
quadrilateral is

Teh TS % |sft o AT BTy
a) 360 b) 180
¢) 90 d) 120

163. Simplify: 2.5+2.5+0.5x2 -4

A TATC: 2.5+2.5+0.5x2—4

a) 8 b) 8.5
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c)6 d) 10.5

164. Find the length of a rectangular
playground in cm whose area is 700 sq. m and
breadth is 25 m

Teh ATIATHRT WA o B Y oiats aut ¥ e hife

frarerT Sawer 700 T Hiex o e 25 Wiew ®

a) 2800
c) 1400

b) 2500
d) 1000

165. The HCFof 12 and 16 is

12 3R 16 HTHCF &
a)2 b) 4
c)6 d)1

166. HCF of 90, 96 and 10 is

90, 96 31X 10 T HCF &

a) 2 b) 6
¢) 10 d) 1

167. The different between the predecessor
and the successor of one million is

T fuforam o gaadt ofR Il o afte it
4

a)1 b) 2

c) 1,000,000 d) 1000001

168. The greatest 5 -digit number is

5 3ieh! Bl HaW T HEATE
a) 99999 b) 100000
c) 98765 d) 56789

169. Amit exercises every 12 days and Ishan
every 8 days. Amit and Ishan both exercised
today. How many days will it be until they
exercise together again?

arfora g2 12 o o ofie Sor 22 8 o o s e )
SATHA ST ST AT X HTT UFEETSH Y. I W o
Tk |TY SATATH A # e &7 e

a) 24 b) 22
c) 20 d) 26

170. Find the value of abc, a = 18,b = 10, c =
6.

abe T AT 1A kIS a = 18, b = 10, ¢ = 6.

a) 1008 b) 1800
c) 1080 c) 1006
171.8.680 x 12

a) 104.06 b) 104.16

c) 104.26 d) 104.36

172. 1f 10 men can do a piece of work in 4 days,
how many men will be required to get the
same work done in 5 days?

Ffe 10 et foret w5 &Y 4 faa & w0 T &, 3dt
F Y 5 37§ o R & forg foram et <
STITIHAT B2

a) 8 b) 10
)6 d) 12
173.1, 8, 27, 64,

a) 25 b) 37
)79 d) 125

174. 12345 x 15 - 2469 x 25 =

a) 143350
c) 122420

b) 124460
d) 123450

175. The product of two numbers us 10,800. If
one number is 90 what is the other number.

T HEATSAT T UAES 10,800 31 AT U EAT 90 7, X
Tad HET T w?

a) 100 b) 140

c) 110 d) 120

176. Find the missing number in the box in the
following proportion:

FrefeTRaa sTuTa ¥ dtee § o dearT @it 5
12: 60
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a)1 b) 4
c)6 d)2

177. The greatest 8 — digit number with given
digits 5, 8,7,5,2,0,6,and 1 is

fRuwu et 5, 8,7, 5, 2, 0, 6, 3 1 A TN AT 8 3kl
T e T 82

a) 88765210
c) 88765521

b) 87765521
d) 87655210

178. 1 am a prime number. If you subtract 1

from me, | will become divided by 9. Who am
?

H Uk TS HTAT | A1 AT o [Uerd &, AT i 9 &
Forarfora & s A 2

a) 29 b) 19
c) 17 d) 11

179. (16 + 4) + 4 is equal to
(16 +4) + 4 FTAH FATE?

a)a b) 3
c)2 d)1

180. Sum of -36and 29 is

-36 311X 29 T TRT FAT L2
a) -65 b) 65
c)-7 d)7

181. What is the least number which when
divided by 24, 36 leaves in case the same
remainder 8

T BT TEAT AT 24, 36 ¥ FReniim s w g viw
Bigdl &, FATE?

a)73 b) 79
c) 80 d) 87

182. The smallest composite number is

a)4a b) 1
c)9 d) 6

183. The sum of three consecutive odd
numbers is always divisible by

o oA ferew EaTett w6 9T g foRed faira
AT E?

a)3 b) 9

)15 d) 21

184. The cost price of 20 books is the same as
the selling price of ‘X’ books. If the profit is
25%, then the value of X is?

20 YEAhT ST AT Hod 31 € & Rt foh 'X' qeaeht

& farsht Ao s @mer 25% #, A X 1 AE w2

a) 25 b) 18
c) 16 d) 15

185. Thevalue of (-3 -(2-3)+5-7)is
(-3-(2-3)+5-7) ®HIAAFATE?

a) -2 b) 3
c)4 d) -4

186. How many faces are there is cuboid?

HATIA % TR WeTeh Bid 872
a) 4 b)5
c)6 d)8

187. 36 boys can do a piece of work in 49 days.
How many extra boys should be required so
that he work may be finished in 21 days?

36 Tgh foRelt T et 49 ot & ar e weRd 81 foRae
arferfter ergeh wfRy avfer s 21 foat & oar g @k

a) 40 b) 42
c) 45 d) 48

188. If 3/4 is equivalent to x/24, then the
value of x.

TfE %, x/12 % SRTER B, A x T | T 82

a)4a b) 6
c)12 d) 18

189. Find the greatest number which will
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exactly divide 200 and 320
200 3T 320 T Gt €T I TR s ST o @

ST A FATE?

a) 10 b) 20

c) 16 d) 40

190. The smallest 5-digit number that is
divisible by 9 is.

9 I feraiora 21 aTeft Ta@ BIet 5 3ieht AT AT T
72

a) 10019 b) 10013

c) 10032 d) 10008

191. Ages of Ajay, Amit and Satish are 10, 12
and 14 years respectively. Find the average

age.
T, T 3T FteT AT 3T HUIT: 10, 12 AR 14 TS
B sftEa ST R?

a) 10 b) 12

c) 11 d) 13

192. The least number of 4 digits exactly
divisible by 7 is

7 8 TR &9 & forafra g arelt 4 sient <l e @ Bt
HEAT AT R?

a) 1007 b) 1001

c) 1006 d) 1009

193. Median of the data 13, 16, 12, 14, 19, 12,
14,13,14is

22T 13, 16, 12, 14, 19, 12, 14, 13, 14 T qT{TRT T 32

a) 14 b) 9
c)13 d)13

194. Product of two co-prime numbers is 117.
Then their LCM is

TN HE AT TEATHT T UGS 117 1 A 30T
LCM T gRr?
a) 117 b)9

c) 13 d) 39
195. If 75% of a number is 15, find the number.

Tt forelt Gt &1 75% 15 B, 9 681 T 82

a) 20 b) 25
c) 40 d) 35

196. The sum of two numbers is 11009. If one
of them is 9999, then other number is

2T HEATSAT T AT 11009 B T STH & Tk 9999 B, AT
Tad T T 7?

a) 1010 b) 1110
c) 2110 d) 21008

197. The sum of all prime umbers between 58
and 68 is

58 311X 68 % arer AT TTTTT TEITS T AT T 22

a) 179 b) 178
c) 187 d) 183

198. The LCM of two numbers is 28 times of
their HCF. The sum of their LCM and HCF is
1740. If one number is 240 then what is the
other number?

Y |EATaTt ST LCM 3% HCF T 28 THT 81 37k
LCM 3 HCF &T a1 1740 1 T2 Ueh ST 240 7, ¢
TE T 32

a) 460 b) 420
c) 500 d) 380

199. The sum of three consecutive integers is
51. The middle one is

A TR UTteht o1 AT 51 31 St SITeT quties a/T
2

a) 14 b) 15
c) 16 d) 17

200. The average of 4 numbers is 16 and the
average of another 4 numbers is 20. Find the
average of the 8 numbers taken together.

4 TREATE T ATEA 16 T AR To 4 TReanadt w1 e
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20 1 8 HEATAT hT ATHT T &2 a) 16 b) 17
c) 18 d) 19
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